SM7EE INWXTEE
BSM7THEA4A1TEPLSM84E3A31HET

(BAL - FM)
B H FEHE  |ReMETHEAE B O G
I —ARIEBRBIEIER D&
1 RO
(1) BHEULE
O HA R P 25 0 0 0
FEAPAPES IRAE 0 0 0
OQFFE & S BFLE 0 0 0
R 7 I 2 ORI, 0 0 0
@FWMA=E 0 0 0
SAZMASE 0 0 0
@= M 3,712 3, 842 A 130
AT 3, 240 3, 370 A\ 130|428, {8 A44
BB ZRaE 472 472 0|k A9
@F I 37, 086 39,579 A 2,493
AR 30, 940 30, 330 610
N1 FEREFOEEFWVIELOFENE 23, 928 23, 373 555
N2 FEFENSL Y OIREEIE 10 10 0
N3 vrva UEHEOIRFRENLE 0 0 0
N4 FH3 Y O FEENS 7, 002 6, 947 55
g 6, 146 9,249 A 3,103
1 ANJEF SO HRERE O SR RIS 4,071 5,907 A 1,836
W2 (EF WS FESHEFENE 2,075 3,342 A 1,267
I3 RS DR FE S IR 0 0 0
©% HuffiBha% 3, 475 10, 406] A 6,931
2 Hy [ e A Bh 42 2,575 9,506 A 6,931
= B 5 A SR RS A BY 4 0 0 0
= B BT Bl 900 900 O LA B R4
DHE A% 1,837 1, 886 A 49
= IFILE 2 2 0
A AMRESRTE H 4% 1 1 0
MEU AR 1,834 1,883 A Y|EREXEBES TS
EEUNIEET 46,110 55, 71131 A 9,603
(2) &M
OF =% 44,516 39, 776 4, 740
(R3=E:i| 2, 294 2, 461 A 167
FaBh 24 19, 910 12, 667 7,243
RN B & 2,553 2, 620 A 67
JRTEAS A 2 779 709 70
TE = A 2 3, 086 2, 257 829
D 0 0 0
iR E AL 10 1,336 1,304 32
1 1,636 1, 460 176
THEEA sl i 2 0 0
THFEM 2 942 863 79
Fn S A 2 1,319 1,773 A 454
SEICEL 461 440 21

20




(HAZ : 1)

s FEHE  |ReWETHEAE B O i
EfEE 5, 606 5, 762 A 156
(ENCvEs 147 154 AT
B I 1,343 2, 208 A\ 865
HBIARR 1,736 1,789 A 53
i 360 2,302 A 1,942
il )] 0 0 0
HEE 1,008 1, 007 1
Q@E 5, 946 5,945 1
5 B 723 556 167
Fa k24 1, 469 1,518 A 49
MR E 4 37 0 37
JBRIAS 1 B 57 84 A 27
T | = A 2 224 269 A 45
D 0 6 A 6
AR 47 47 0
R AL 1 69 71 A 2
W1E 200 202 A 2
THRES 20 b & 1 1 0
THRESE 120 120 0
ErtE 0 0 0
P B A 32 32 0
HEACE R 51 51 0
B 422 595 A 173
A 847 847 0
FABLAGR 232 232 0
A E 703 581 122
SCHAFILE. 62 62 0
HEE 650 671 A 21
BEERE 50, 462 45,721 4,741
PR 2 S5 A T 2 SR R A 4,352 9,992| A 14,344
@ HA T TN R 25 2
OFFE & MR 2 %
BT 0 0 0
LR EIBREE A 4,352 9,992 A 14,344
2 RREINEROHE
(1) RIS
P N E Ay 0 0 0
(2) RHENEN
R HE
R S AR
fh = FHERAE
L HA— G IE LR BA FEIERIRE A 4,352 9,992 A 14,344
— W E M PE R A 87, 457 77, 465 9, 992
— W IE M PE R R A 83, 105 87,457 A 4,352
I $ETEIERBERBOR
= IUA B4 0 0 0
— BRI EE ~ DIRFEAR 0 0 0
2 F O 1 R AR 0 0 0
TR IE R PE B & 7 ) 0 0 0
B IR R B PE R AR 15 0 0 0
I ERREAEEIRES 83,105 87,457] A 4,352

21




